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Check point 1.3B

1. The whole molecule of triglycerides are hydrophobic. However, in phospholipids, there are hydrophilic phosphate ends and hydrophobic FA hydrocarbon ends. This property allows phosphlipids to form a lipid bilayer with the hydrophobic ends facing each other and the hydrophilic ands pointing outwards. This property however cannot be achieved by triglycerides.

2. It is because glycogen is a carbohydrate. The energy yield of lipids is much higher than that of carbohydrates by oxidation. In other words, lipids are much lighter than carbohydrates for an equivalent amount of energy stored. So, the storage of lipids leads to relatively smaller body weight and more effective locomotion for animals.

